Ideologies and Upheavals
Terms

· The time period following Napoleon and until 1850 was called the ‘dual revolution’. Numerous political and economic changes occurred often intertwining and strengthening each other. An example to book gives is the rising middle class wanted a representative govt. Social changes also played a role.

· After Napoleons first overthrow the Quadruple Alliance (Russia, Prussia, Austria, Great Britain and numerous smaller countries) met at the Council of Vienna to fashion a peace settlement for France which turned into a discussion on how to maintain the balance of power to avoid another war in Europe. It worked for nearly a century until Prussia invaded France in the latter part of the century.

· Initial all the peace settlement did was restore France to its 1792 borders which were larger than in 1789 and restore the Bourbon monarchy. The moderation the delegates showed with regards to France (notably amongst Klemens von Metternich (Austria) and Robert Castelreagh (England)) was to maintain the balance of power.
· What the Council of Vienna did land wise to maintain the Balance of Power (BoP) was the following:

· Belgium and Holland were combined to more effectively resist the French.
· Prussia received territory on the Rhine as a sentinel against France.

· Austria gave up the Netherlands but gained parts of northern Italy and former Polish territory.

· War nearly broke out between Russia and Prussia on how to divide up Poland (which Russia wanted) and Saxony (which Prussia wanted) but was stopped by Metternich and Castlereagh turning to the French delegate, Charles Tallyrand. To maintain the BoP Prussia got 2/5 of Saxony and Russia got parts of Poland.
· After the Hundred Days the peace terms were stricter. France lost some territory, had to pay a war indemnity of 700 million francs and support a occupation army for 5 years.

· In addition, the ‘Concert of Europe’ was formed where European countries would try and resolve their difference without going to war and deal with external threats.

· In 1815 Russia, Austria, and Prussia formed the ‘Holy Alliance’ to stop the policies of the dual revolution and enforce the status quo.

· In 1819 Metternich issued the Carlsbad Decrees from the German Confederation. IN the Carlsbad Decrees it states that all members of the German Confederation must take efforts to root out subversive ideas either through restricting free speech or informant spies.
· Liberalism is very similar to todays conservatism with the govt taking a hands off approach to all aspects of life, similar to Adam Smiths ideas in Wealth of Nations. Liberalism also mandated abolition of class distinctions and individual freedoms along with free market which a few countries adopted, namely Britain. Liberalism was commonly identified with representative govts and the middle class. 
· Nationalism is the belief that each ethnic group had a cultural unity that nationalism was to turn into a political unity through mass education of one language and so on. Nationalism commonly involved large parades and ceremonies to increase that idea of national unity. Early nationalism was similar to liberalism in the belief that each nation, like each person, had its own genius and should be able to explore that. Nationalism later often turned into an ‘us vs they’ as a result of leaders playing on the idea of a cultural unity. This idea also lead to the breakup of Austria-Hungary during WWI from the numerous ethnic groups and the unification of the German states.
· French Utopian Socialism was a reaction against capitalism as they felt it was selfish and split humanity into groups. They believed in making everyone economically equal and regulation of the economy, similar to the Committe for Public Safety. In addition, they also believed in state regulation of property.

· Count Henri de Saint-Simon (1760-1825) believed that the key to progress was proper social organizations, that the ‘parasites’ (aristocracy, priests, govt officials) would give way to the ‘doers’ (scientists, engineers, industrialists) who would plan the economy.
· Charles Fourier (1772-1837) believed in a socialist utopia made up of entirely self sufficient communities of 1620 people. He also believed in the total emancipation of women, abolition of marriage (he viewed it a prostitution for dowries) and that marriage should be replaced by free unions based only on love.

· Louis Blanc and Pierre Joseph Proudhon believed that the right to work was paramount and that all property ownership was theft as it was stolen from the worker.

· Marxism, or Scientific Socialism originated in 1848 with Karl Marx and Fredrich Engles publishing ‘The Communist Manifesto’. Marx believed that history was simply class struggles and that the values of the middle class (bourgeoisie) was intrinsically opposed to the values of the lower class (proletariat). He believed that the proletariat would triumph over the bourgeoisie in a violent revolution because as the rich grew richer and the poor grow poorer, class conciouss would become more evident. Marx believed that the eventual revolution was soon. He ends his ‘The Communist Manifesto’ saying: “Let the ruling class tremble at a Communist revolution. The proletarians have nothing to lose but their chains. They have a world to win. WORKING MEN OF ALL COUNTRIES, UNITE!”
· Marx based his ideas off of Engles work in England where he highlighted the exploitation of the workers and the ideas of the German philosopher Georg Hegel. Hegel states that history is simply the dominance of one idea, which eventually creates its antithesis, non-being. Marx also believed that since there was no more class struggles, the government would eventually go away as it was based on class struggles.
· The Corn Laws were revised in Britain in 1815. Previously, the Corn Laws had been pointless because due to the Napoleonic Wars, it was difficult for Britain to import cheap grain leading to large profits for the nobility. Because Parliament was dominated by the aristocracy, they revised the grain laws preventing the import of cheap European grain unless the domestic price was exorbitant. This lead to numerous protests as it was coupled with post war economic depression and unemployment. The ruling party in Parliament (Tory) tried to repress the protests by repealing some civil rights, heavy taxes, and suspension of the right of habeas corpus. This culminated in 1817 with the ‘Battle of Peterloo’ where a protest was broken up with armed cavalry. 
· The Tory govt started to reform when the industrial middle class wanted more rights in 1820. The Whig party came to power (they were traditionally more reform minded) and tried to pass a reform bill but it was defeated by the House of Lords. The whigs got it passed by going to the Kings asking for more seats in Parliament. The House of Lords agreed rather then see more people in there.

· The Reform Bill of 1832 did two primary things after the whigs got it passed:
· It established the House of Commons (middle class) as the dominant power.

· 12% of adult male Britain could vote compared the 8% previously.
· The ‘Peoples Charter’ of 1838 and the Chartist movement was prompted by economic issues. They demanded universal male suffrage but failed. Many of them did join the Anti-Corn Law League and were able to repeal it when facing famine in 1846.

· The Tory party, wishing to avoid more riots, they passed the Ten Hours Act in 1847 limiting the workday to, oddly enough, ten hours for women and children. The Tory party taking some of the middle class’s wishes was in many ways what Bismarck did in the unification of Germany. Take away all the things that the opposition can throw at you.
· France experienced a revolution in 1830 because Charles X tried to overturn the ‘liberal’ constitution (Constitutional Charter) Louis XVIIII had issued. (‘Liberal’ because only 100,000 of the wealthiest could vote out of 30 million.) Charles X wanted to return to the Louis XIV style absolutism. To get popular support he invaded Algiers in North Africa to gain a victory. Charles then abolished the Constitution Charter, but the people of Paris revolted and in three days they had thrown him from office and put his cousin, Louis Phillipe in office. Louis was known as the ‘bourgeois’ monarch because he often deferred to their wished. He did however expand voting rights to 170,000 people in France.

· As a result of economic downturn in France resulting from the Irish Potato famine and inaction on the part of Louis Phillipe’s govt, the middle and working class in Paris revolted, proclaiming they no longer wanted a monarch, but a republic. (2nd Republic). Louis Phillippe abdicated during the revolution. The republican revolutionaries became divided along two lines, one group was the classical liberalism while the other was the socialist group. The liberals managed to get a majority in the Constituent Assembly, but to try and placate the socialists they set up workshops for the poor, but there weren’t enough workshops and there were too many poor or unemployed people. 
· To try and get more help for the poor, the socialists revolted against the republic and tried to storm the assembly but they were put down by the predominantly middle class and peasant army. This culminated in the three ‘June Days’ where more than 10,000 people were killed or injured. The peasants were on the side of the middle class, not the working class because they did not want their land being taken away by the socialists. Instead of creating a more liberal constitution that would favor the working class, the middle class emphasized a strong executive branch which would allow Napoleon III to come to power.

· In the Austrian revolt, students and workers in Vienna rioted, forcing King Ferdinand I to accept a liberal constitution and abolish serfdom. The revolt quickly broke down along ethnic/nationalistic lines as the Hungarians would not support the Germans, and so on. The Hungarians couldn’t succeed as they tried to absorb numerous Balkan subgroups such as the Croats and the Slavs, who wanted to be independent. The revolt failed so badly because the Hapsburg monarchy managed to play the different ethnic groups against each other. The Empress of Austria, Sophia dictated that her son, Franz Joseph would become king as Ferdinand I has no heirs. Franz Joseph served as a rallying point for the Austrian Nobles and their predominantly peasant army, and they crushed the revolt. Hungary was pacified with the help of the Russians, and would remain an occupied province until the formation of the dual monarchy later.
· The Prussian revolt failed because the ‘revolutionaries’ took too long to do anything. The current king, William IV was pressured into accepting a liberal constitution by revolutionaries spurned to action by the revolution in France. William told the revolutionaries to start writing a constitution but a separate group of german nationalists in Frankfurt decided they should write the constitution. A war developed with Denmark and both committee’s got distracted. Frederick William reasserted his divine right saying he will not accept the ‘crown from the gutter’, the liberal constitution.
